
F.O’B – Commentary Thursday 6th June 2024 
 
For arguments sake, I am assuming 4-card majors and weak No-Trump….but all systems are 
fine.   
 

 6 

 Q87 

 J965 

 QJ987 

 A94  KQ10532 

 A 5  K1042 

 KQ842  A 

 A53  K 10 

 J87 

 J963 

 1073 

 642 
HCP  Makeable contracts 

         NT 

 6   N - - - - - 

17  15  S - - - - - 

 2   E 4 6 5 7 7 

    W 4 6 5 7 7 
 

Board 1 : Dealer North : Love all 
West North East South 

 Pass 1                  Pass 

2                  Pass              2                  Pass 

3                  Pass              3                  Pass 

4NT (RKCB)   Pass               5 (2+Q)   Pass 
5NT                 Pass              7NT                All Pass 
 
A Grand Slam to begin with.  Any Grand will score well but the 
regular partnerships will know they have 13 top tricks during the 

auction and they will bid 7NT rather than 7 to get a bigger 
share of the matchpoints. 
 
Keycard Blackwood helps a lot here but the real partnership trust 
comes when East takes West 5NT (King Ask) to mean they have 
ALL 5 key cards….so he knows there should be a good play for 13 
tricks.              
 
 

 

 10 7 6 

 5 2 

 K Q J 6 5 3 

 Q 3 

 J 9  K 5 3 2 

 A K Q J  10 9 8 7 6 

 2  10 7 

 A K 8 7 4 2  9 5 

 A Q 8 4 

 4 3 

 A 9 8 4 

 J 10 6 
HCP  Makeable contracts 

         NT 

 8   N - 2 - 1 1 

18  3  S - 2 - 1 1 

 11   E 3 - 4 - - 

    W 3 - 4 - - 
 

Board 2 : Dealer East : NS vulnerable 
West North East South 
  Pass Pass 

1 1 Pass 2 

2 Pass               3 Pass 

4 Pass Pass               Dbl          All Pass 
 

The trick will be to get to 4 here.  If East makes a bid there will 
be no stopping West but if East is silent it won’t be so easy and 
N/S might steal the hand in a Diamond partscore or West might 
decide to play in Clubs rather than Hearts. 
 
Of course if West opens with some sort of strong bid he will get 

to 4 which might even be doubled. 
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 9 6 

 A 10 7 5 

 A K 

 K J 8 7 4 

 K 3  5 2 

 9 3 2  K J 8 

 Q 10 9 6 5  J 4 2 

 Q 6 5  A 10 9 3 2 

 A Q J 10 8 7 4 

 Q 6 4 

 8 7 3 

 - 
HCP  Makeable contracts 

         NT 

 15   N 1 1 3 5 3 

7  9  S 1 1 3 5 3 

 9   E - - - - - 

    W - - - - - 
 

Board 3 : Dealer South : EW vulnerable 
West North East South 

   3 

Pass 4 All Pass 
 
 

Whether you open 1, 3 or 4, everyone will probably end up 

in 4.  11 tricks is the limit because declarer has to lose two 
tricks to the two major suit kings. 
 
 
 

 

 J 9 6 

 A K Q 9 3 

 J 10 5 3 

 7 

 A K Q 10 5 4  2 

 10 5 4  J 8 7 2 

 -  A 8 7 6 

 8 5 4 3  K J 6 2 

 8 7 3 

 6 

 K Q 9 4 2 

 A Q 10 9 
HCP  Makeable contracts 

         NT 

 11   N - 3 - - - 

9  9  S - 3 1 - 1 

 11   E - - - - - 

    W - - - - - 
 

Board 4 : Dealer West : All vulnerable 
West North East South 

2 All Pass 
 
If West opens a weak two – that will probably keep N/S out of 
the auction. 
 

N/S can make 9 tricks in Diamonds but East’s opening of 1 or 

2 will make it difficult for them to find their fit.  If West can 

manage to get a trick with Dummy’s A he will score at least 7 
tricks for a good board. 
 

What does South bid after 2 -P-P-?  If he doubles he might not 
find the Diamond fit until the 4-level – when it will be too high? 
2NT showing the minors would work but do you play that as a 
strong NT hand here? 
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 A K 10 

 Q 9 7 3 2 

 K J 6 

 10 6 

 8 5 2  6 4 3 

 4  10 5 

 Q 9 7 5  A 10 8 2 

 A K Q J 3  8 5 4 2 

 Q J 9 7 

 A K J 8 6 

 4 3 

 9 7 
HCP  Makeable contracts 

         NT 

 13   N - - 4 4 1 

12  4  S - - 4 4 1 

 11   E 2 2 - - - 

    W 2 2 - - - 
 

Board 5 : Dealer North : NS vulnerable 
West North East South 

 1 Pass 4 
All Pass 
 

4 seems an obvious contact losing 3 tricks if declarer guesses 
correctly in Diamonds and losing 4 tricks if he mis-guesses 
Diamonds. 
 

Most will simply respond 4 to the opening bid of 1 but those 

that respond 1 might hear a 2 rebid from partner.  As it turns 

out both 4 and 4 can be made. 
 
 

  
 

 Q 6 5 

 6 

 Q J 10 9 4 3 2 

 Q 4 

 A K J 4 3 2  9 

 -  K J 10 9 8 7 3 

 8 7  6 

 K 9 8 7 2  A J 5 3 

 10 8 7 

 A Q 5 4 2 

 A K 5 

 10 6 
HCP  Makeable contracts 

         NT 

 7   N - 1 - - - 

11  9  S - 1 - - - 

 13   E 6 - 4 4 - 

    W 6 - 4 4 - 
 

Board 6 : Dealer East : EW vulnerable 
West North East South 

  3 Pass 

3 Pass 4 Pass 

4 All Pass 
 

6 makes here but as with all minor suit slams it will be difficult 
to bid. 
 

4 will be the normal contact with some pairs just blasting it in 
response to their partner’s opening.  No doubt some East’s will 
make 11 tricks because they will manage to ruff their second 
diamond in Dummy. 
 

On the Q lead, South needs to overtake and return a trump in 

order to set up 2 Diamond tricks and the Q for the defence. 
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 7 2 

 A 7 4 

 10 5 4 

 K Q 7 4 2 

 10 8 5  K Q 4 3 

 J 5  Q 9 6 3 

 A 9 7 6 2  3 

 10 8 5  J 9 6 3 

 A J 9 6 

 K 10 8 2 

 K Q J 8 

 A 
HCP  Makeable contracts 

         NT 

 9   N 4 4 3 3 4 

5  8  S 4 4 3 3 4 

 18   E - - - - - 

    W - - - - - 
 

Board 7 : Dealer South : All vulnerable 
West North East South 

   1 

Pass 2 Pass 2NT 

Pass 3 Pass 3NT 
All Pass 
 
All auctions should lead to 3NT.  The given auction is a nice one 
for 4-card major players.  2NT is 15+ forcing and now North can 
show 3-card Heart support just in case his partner has a 5-card 
suit. 
 
10 tricks are available by way of 1 Spade, 2 Hearts, 3 Diamonds 
and 4 Clubs.  Therefore only making 9 tricks won’t be a good 
score. 
 

 
 

 J 6 5 

 Q 10 8 5 

 K 9 8 5 

 J 10 

 10  Q 9 8 3 2 

 A 6 2  9 7 4 

 Q J 7  4 3 

 9 6 5 4 3 2  A Q 7 

 A K 7 4 

 K J 3 

 A 10 6 2 

 K 8 
HCP  Makeable contracts 

         NT 

 7   N - 4 3 2 1 

7  8  S - 4 3 2 1 

 18   E 1 - - - - 

    W 1 - - - - 
 

Board 8 : Dealer West : Love all 
West North East South 

Pass Pass Pass 1 

Pass 1 Pass 2NT 
Pass 3NT All Pass 
 
It will be hard to stay out of 3NT here – 2 balanced hands and 25 
points. 
 
3NT should go 2 down on a Club lead but East needs to get that 

Q out of the way on the second round of the suit.  So 3NT 
might well make in practice. 
 

If East decides to overcall 1 at some point, West will probably 
lead a Spade which will help declarer’s cause. 
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 Q 9 

 7 6 4 3 

 A Q J 9 7 

 Q J 

 K 10 4  A J 8 7 

 A K 10 5 2  8 

 10 3  K 8 5 2 

 8 3 2  A 10 9 7 

 6 5 3 2 

 Q J 9 

 6 4 

 K 6 5 4 
HCP  Makeable contracts 

         NT 

 12   N - - - - - 

10  12  S - - - - - 

 6   E 4 2 3 3 3 

    W 4 2 3 3 3 
 

Board 9 : Dealer North : EW vulnerable 
West North East South 

 1 Pass 1 

Pass 2 Pass Pass 

2 All Pass 
 
The cards lie well for E/W and especially so if West remembers 
that North opened the bidding. 
 
Ideally East should not enter the bidding on the first round as he 
has too many Diamonds to make a take-out double.  If he passes 
on the first round he might be even less inclined to enter the 
auction on the second round if South has bid Spades. 
 

In any event West will have to save the day and bid 2 at some 
point.  Of course letting N/S play in 2Dx -2 or -3 would be nice 
work for E/W. 

 
 

 Q 5 4 

 7 4 3 2 

 K 9 4 

 J 9 5 

 J 9  10 6 2 

 A J 10 8 6  K Q 5 

 J 10 5 3  A Q 2 

 K 4  10 7 3 2 

 A K 8 7 3 

 9 

 8 7 6 

 A Q 8 6 
HCP  Makeable contracts 

         NT 

 6   N 1 - - 2 - 

10  11  S 1 - - 2 - 

 13   E - 3 4 - 1 

    W - 3 4 - 1 
 

Board 10 : Dealer East : All vulnerable 
West North East South 

  Pass 1 

Pass 2 Pass 3 

Pass 3 All Pass 
 
A very favourable lie of the cards means that E/W can make 10 
tricks in Hearts but they are unlikely to enter the auction 

vulnerable.  If North passes the 1 opening, East might bid a 
‘protective’ 1NT showing 11-14 and now West will show his 
Hearts. 
 

If North responds 1NT or 2S, South might let things drop in 2 

but if he fancies his hand he can bid 3 as a ‘Trial’ bid asking his 
partner to look at his Club holding when deciding whether or not 

to bid 4.  North doesn’t like his Clubs or any other part of his 

hand for that matter and he will sign off in 3….which has 5 
obvious losers. 

 
 



FOB – Commentary – BBO Thursday 6th June 2024 
 

 - 

 Q 10 8 7 6 

 K Q 10 9 5 4 

 10 8 

 A Q 8 7 6  J 10 5 

 K 4 3  J 9 2 

 -  J 7 6 2 

 J 6 5 4 2  A K 9 

 K 9 4 3 2 

 A 5 

 A 8 3 

 Q 7 3 
HCP  Makeable contracts 

         NT 

 7   N - 4 1 - - 

10  10  S - 4 2 - - 

 13   E 3 - - 2 1 

    W 3 - - 2 - 
 

Board 11 : Dealer South : Love all 
West North East South 

   1 
Pass 1NT All Pass 
 
This hand should torture a few North’s!  What do you respond 

when partner opens 1? 

2? 2? 1NT? Pass….there are arguments for and against all 4 
options.  Perhaps 1NT is the most systemic hoping to get to show 
at least one of your suits later. 
 
There might not be a later….but even if partner doesn’t come to 
your rescue maybe your opponents will re-open the auction and 
you will get another chance to bid.  If you do get a second chance 

to bid then maybe you should bid 2…making 9 or 10 tricks if 
the defenders don’t find their Diamond ruffs! 

 
 

 A 9 7 

 A 8 6 

 10 8 3 

 10 9 6 3 

 Q 10 8  K 4 3 

 Q 10 9 3  K 5 

 K Q 4  J 9 7 6 

 J 5 2  A K Q 8 

 J 6 5 2 

 J 7 4 2 

 A 5 2 

 7 4 
HCP  Makeable contracts 

         NT 

 8   N - - - - - 

10  16  S - - - - - 

 6   E 4 4 3 3 4 

    W 4 4 3 3 4 
 

Board 12 : Dealer West : NS vulnerable 
West North East South 

Pass Pass 1 Pass 

1 Pass 1NT Pass 
3NT All Pass 
 
2 balanced hands and 26 points should lead to a routine 3NT by 
E/W. 
 
Declarer will make 9 or 10 tricks depending on how lucky he is at 
guessing the location of the major suit Jacks. 
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 Q 5 

 A K 8 5 2 

 A Q 5 

 Q 10 2 

 A 10 7 2  J 8 4 3 

 9 3  Q 10 6 

 9 8 6 2  K 4 3 

 K J 7  A 8 4 

 K 9 6 

 J 7 4 

 J 10 7 

 9 6 5 3 
HCP  Makeable contracts 

         NT 

 17   N 1 - 1 - - 

8  10  S 1 - 1 - - 

 5   E - 1 - 2 1 

    W - 1 - 2 1 
 

Board 13 : Dealer North : All vulnerable 
West North East South 

 1 All Pass 
 
Well done to any West player who 'protects’ on this hand and 
manages to bid 1NT or Double. 
 
But then the play is another matter. 
 

But then the defence to 1 is another matter too.  Declarer 
won’t be in dummy too often so the defenders will need to be 
careful not to open the Club suit for him. 

 

 Q 9 4 

 A Q 10 7 5 

 6 5 4 

 10 8 

 K 3  A J 10 2 

 8  K J 3 2 

 A K 9 8  Q 10 3 2 

 K J 6 5 4 3  Q 

 8 7 6 5 

 9 6 4 

 J 7 

 A 9 7 2 
HCP  Makeable contracts 

         NT 

 8   N - - - - - 

14  13  S - - - - - 

 5   E 4 5 2 5 5 

    W 4 5 2 5 5 
 

Board 14 : Dealer East : Love all 
West North East South 

  1 Pass 

2 Pass 2 Pass 

2 Pass 2NT Pass 

3 Pass 3NT All Pass 
 
27 points and no major suit fit so we should all end up in 3NT.  
Declarer will do well to just lose two tricks and more than likely 
will lose 3 tricks as it seems safer to simply give up 2 Club tricks 
in an effort to make this contact.  3NT+1 will be common. 
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 J 

 K 9 7 4 2 

 9 8 4 

 K 10 7 2 

 K 9 8 6  A Q 10 7 5 3 2 

 A J 5 3  10 

 10 6 3  A K 2 

 A Q  5 3 

 4 

 Q 8 6 

 Q J 7 5 

 J 9 8 6 4 
HCP  Makeable contracts 

         NT 

 7   N - - 1 - - 

14  13  S - - 1 - - 

 6   E - 1 - 5 5 

    W - 1 - 5 5 
 

Board 15 : Dealer South : NS vulnerable 
West North East South 
   Pass 

1NT Pass 2 Pass 

3 Pass 4NT (RKCB) Pass 

5(3) Pass 5NT Pass 

6  All Pass 
 
If East hears that his partner has a maximum and 4 card Spade 
support he will surely make a try for slam? 
 

3 here means ‘I have 4 Spades, a maximum NT opening and a 
doubleton Club’. 
 

 

 Q J 3 

 Q 7 5 

 K 8 3 2 

 A 8 3 

 K 7 5 4  10 9 8 6 

 A 10 9 4  3 2 

 J 7  10 9 5 

 J 7 4  K 9 6 5 

 A 2 

 K J 8 6 

 A Q 6 4 

 Q 10 2 
HCP  Makeable contracts 

         NT 

 12   N 2 4 3 1 3 

9  3  S 2 4 3 1 3 

 16   E - - - - - 

    W - - - - - 
 

Board 16 : Dealer West : EW vulnerable 
West North East South 
Pass 1NT Pass 3NT 
All Pass 
 
Another 3 No-Trump where you can go down if you don’t count 
your tricks. 
 
2 Spades, 2 Hearts, 4 Diamonds and 1 Club. 
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 8 5 4 3 

 7 3 

 K 10 8 6 2 

 7 4 

 10 9  Q J 2 

 A K Q 10 9 6  J 2 

 9 4  Q J 7 

 9 6 3  K J 10 5 2 

 A K 7 6 

 8 5 4 

 A 5 3 

 A Q 8 
HCP  Makeable contracts 

         NT 

 3   N - 3 - 3 - 

9  11  S - 3 - 3 - 

 17   E 1 - - - 1 

    W 1 - - - 1 
 

Board 17 : Dealer North : Love all 
West North East South 

 Pass Pass 1 

2 2 All Pass 
 
N/S can make 9 tricks in Spades – losing a Spade, two Hearts and 
a Diamond. 
 
West better not bid too much or too often or he might get 
doubled. 
 
 

 

 5 3 2 

 K J 3 

 J 9 8 7 

 9 7 2 

 Q 10 7  A K 9 6 4 

 A 9 7 4  Q 8 5 2 

 A 4  6 

 A 6 5 3  Q J 4 

 J 8 

 10 6 

 K Q 10 5 3 2 

 K 10 8 
HCP  Makeable contracts 

         NT 

 5   N - 1 - - - 

14  12  S - 1 - - - 

 9   E 5 - 6 5 3 

    W 5 - 6 5 3 
 

Board 18 : Dealer East : NS vulnerable 
West North East South 

  1 2 

Dbl Pass 3 Pass 

4NT Pass 5 Pass 

6 All Pass 
 

West’s Double of South’s 2 overcall is a ‘negative’ double 
showing the two unbid suits – especially any unbid major suit – 
Hearts in this case. 
East has a nice hand despite the minimum point count – 4 card 
Heart support, a good 5-card side suit and a singleton so a jump 

to 3 is not an overbid.  E/W are unlikely to get to slam unless 

East jumps to 3. 
 
On the other hand you don’t want to end up in the wrong slam.  

The 4-4 Heart fit will score very well even if it is only 4+2. 

 


